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Z A9 7t A AL M

SAg 23 THYA A S AL
+ 2 R 1G.)) + A4 H H 2

2 A 8| 23,629,546

2 1t 2 & b
“I (& Al 23,629,546
N A e 14,413,313
. & L R 1,657,530
= “I & ] 16,070,843
o 71 A 7 419,760
° N AT 602,656
A 1EEYHE 139,816
A7tgEE -
ol dFEYE -
) G 23T -
2t | LolA|ouEa -
At 8 74 kay] -
7| Ef 7 H 3,096,630
£ 27| -
A7 |AICHoA R 2 FM -
(& Al 9,313,913
A 49,014,302
Y gF 2 2| H| 2,637,555
o| = 3,352,530
H 7| & % 2| H] 950,664
T 57t 50,900,000
B IF 7 2| A 5,090,000
£ & H 55,990,000
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A 2 H| L 2 % H T A
3 &5 -+ 4 > e
cHot =4 iy =4 Ry =4 £t = 9
L 23 AP wAEISA 1 Al 23,629,546 14,413,313 419,760 38,462,619
A 23,629,546 14,413,313 419,760 38,462,619
1) e 2H| 2L x 11.5% 1,657,530
2) AHEHE L 2H| x 3,75% 602,656
3) 18EYa L2H| x 0.87% 139,816
4) AtEYe 2L FH| x 3.23%
5 dzEYE M 2| x 4,50
6) E[}ZAHE S -
7) RT|IeSE"E 7A7ETHE x 8.51%
8) At B 2| (RHEH+2] e+ £ FA ) X 1.85%
9) 7|EHgH| (FHEH|+ L FH]) x7.8% 3,096,630
10) $3 L2y (RHEH[+2| L +4H7) x 0.3%
11) 74447 |A|cHo 23] (RIAH+2] = +4H74) x0.32%
A 43,959,251

12) dgtea|y| (RHEHl+ = fH[+73H]) x 6% 2,637,555
13)o] & (= FH[+7e |+ LekEka[H]) x 150%0|LH 3,352,530
14) ™7 | &x{2|H| 950,664
15) 3 &7t 50,900,000
16) E7171x|A| 22 AHH[2] 10% 5,090,000
17) =503y 55,990,000
18) LEAFAEH 4,095,590

Z 3 At H| 60,085,590
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st 2 2
=59 7 e = ct JF: ﬁl% oA ct JPIH T Hl% oA ct JP_‘_ T Hl% oA = JFg - = A o
B =23 BTEY JHIS 1A 38,462,619 23,629,546 14,413,313 419,760
1. A7 114 12,865,043] 12,865,043 7,960,518 7,960,518 4,773,209 4,773,209 131,316 131,316
2. B4 1A 14,393,266| 14,393,266 9,517,882 9,517,882 4,808,012 4,808,012 67,372 67,372
3. C+4 114 5,463,892 5,463,892 3,279,726 3,279,726 2,129,424 2,129,424 54,742 54,742
4. U3 1A 5,740,418 5,740,418 2,871,420 2,871,420 2,702,668 2,702,668 166,330 166,330
A 114 12,865,043 7,960,518 4,773,209 131,316
1) 018 & H 1,167,060 66,102 1,082,394 18,564
Lot E 01 - H1.0+W0.3 54]EA 1,887 101,898 143 7,722 1,730 93,420 14 756
L REEN 1400x 1400 4200 A 25,361 1,065, 162 1,390 58,380 23,547 988,974 424 17,808
.2) A& 10,529,946 7,061,256 3,355,938 112,752
Lot EX H1.0+W0.3 O[EA 21,450 21,450
LB AR 1400+ 1400 540 A 152,157 8,216,478 87,922 4,747,788 62,147 3,355,938 2,088 112,752
22 4X 12mm 1512 764 1,155,168 764 1,155,168
LB A3 L300 540 2,145 1,158,300 2,145 1,158,300
.3) AT 1,168,037 833, 160 334,877
CREC AT 60%40 82.32 14,189 1,168,037 10,121 833, 160 4,068 334,877
2. B4 1 14,393,266 0 9,517,882 0 4,808,012 0 67,372
1) ol 2 EH 809,892 45,418 751,390 13,084
ot E 0l - H1.0+W0.3 26 1,887 49,062 143 3,718 1,730 44,980 14 364
L REEN 1400x 1400 30 25,361 760,830 1,390 41,700 23,547 706,410 424 12,720
.2) A& 5,069,974 3,399,864 1,615,822 54,288
L 2E AR 1400+ 1400 26 152,157 3,956,082 87,922 2,285,972 62,147 1,615,822 2,088 54,288
g &X 12mm 728 764 556, 192 764 556,192
RS RS ON| L300 260 2,145 557,700 2,145 557,700
.3) ALK 8,513,400 6,072,600 2,440,800
CBECL ALTH 60%40 600 14,189 8,513,400 10,121 6,072,600 4,068 2,440,800




St = | S— A
=== " M i T ﬁla o ] erH T Hla o = | Hla o TS - 2o e
3. c7Y IE 5,463,892 3,279,726 2,129,424 54,742
1) 018 2 = 673,652 37,753 625,005 10,894
OHHE Ol H1.0%H0.3 21eA 1,887 39,627 143 3,003 1,730 36,330 14 294
JEEEE 1400x 1400 257 4 25,361 634,025 1,390 34,750 23,547| 588,675 424 10,600
2) A& 4,094,979 2,746,044 1,305,087 43,848
IR 1400+ 1400 21| 152,157 3,195,207 87.922| 1,846,362 62,147 1,305,087 2,088 43,848
2z &3 12m 588{m 764 449,232 764 449,232
e L300 210[H 2,145 450,450 2,145 450,450
3) AT 695,261 495,929 199,332
LBOL AT 60+40 49| m 14,189 695,261 10,121] 495,929 4,068] 199,332
4. 2UZ IE 5,740,418 2,871,420 2,702,668 166.330
1) B A 782,705 32,79 662,834 87,077
DHHE 426 21 2440T(2.5T) 19[n3 30,500 581,210 156 2,964 27,975| 531,525 2,459 46,721
LA @E3zE)  [BHo.2 o[ m 10,605| 201,495 1,570 29,830 6.911 131,309 2,124 40,356
2) BIITIH A28 985,913 5,026 901,634 79,253
L ABB(17Y) ©12440T(2.5T) 16. 1613 30,500 494,333 56 2,520 27,975 452,076 2,459 39,737
L ABEH(27) 01 2440T(2.5T) 16.07|n3 30,500| 491,580 156 2,506 27,975 449,558 2,459 39,516
3)24 3,971,800 2,833,600 1,138,200
Tol 24 Fed 01l P2H(W400) [ 700[m 5,674 3,971,800 4,048 2,833,600 1,626 1,138,200
N BIEEE IE 950,664 950,664
HII2He2l N EECE 44]ton 17,160 755,040 17, 160 755,040
Holgse EERE o[ m 10,296|  195.624 10,296 195,624




